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Il Semester B.Com. Degree (CBCSS - Reg./Supple./Imp.)
Examination, November 2016
(2014 Admn. Onwards)
General Course
3A12 COM : NUMERICAL SKILLS FOR BUSINESS

Time : 3 Hours Max. Marks : 40
PART - A
Answerall questions. Each carries Y2 mark.

1. The average of first 10 even numbers is
a) 12 b) 15 g]) 1 d) 10

2. If4:5::12:x, then x is
a) 15 b) 18 c) 20 d) 22

3 52 =1 thenxis

a) —5 b) = c) 0 d) 1

4. If Ais a set with n{A) = m, then the number of powerset is

a) mn b) 2™ g)i2 d) 4m®
(4x1/2=2)

PART-B
Answerfour questions. Each carries one mark.
5. If one root of x2 — 6kx + 5 = 0 is 5, then the value of k is

6. If Abe aset, then
it dAls

iy AmAis
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7, W15% of A=20% of B, then A:Bis
o 1] ,
& = B than A:B is

9. 1 0.6xA=009xB,then A:Bis

10. The shaded portion in the given Venn diagram represents (4x1=4)

PART-C
Answerany six questions (notexceeding one page). Each carries three marks.

11. The difference between the simple interest and the compound interest on
Hs. 5,000 at 10% per annum for 3 years is

12. Solve 8x + 3y < 100, x = 0,y = 0 graphically.
f T 1 =
13. fx=7-443,then «/x + —— is
W X

14. fA={1,3,B={1,59),C=1{1,3,5,7, 9} then

iy o B
iyA___ B
i) A C
iv) B C
v) AnB=__

",'ri:| AuB=
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16.

17

18.

If the angles of a triangle are in the ratio 3:4:5, then find all the angles of a
triangle.
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Findtherankof A=10
1

=2 & 4 0] .
if A+B=| and A-B= ‘TIHGAEHCIB.
L6 2 0 4]
The compound interest on a sum at 12% per annum for 2 years is Rs. 1590,
What will be the simple interest on this sum ? (6x3=18)
PART-D

Answer any two questions. Each carries eight marks.

19,

20.

21,

4 @ -8 D=l & 4 1 2
f A=|5 0 2| B=|4 2 5| and C=[0 3 2| then compute
-1 1] = |1 -2 3
A+BandB-C. Also verify that A+ (B-C)=(A+B) - C.
Solve the following equations
X3y hz=140
X=V—2=—2
2Xx+3y—z=-11
, ) 1 =&
S 4 '
If A= . B= 5',G=—E 5 -3 | verify that (AB) C = A(BC).
10 0 1] 5. B @

{2}(3:1 ﬁ]




